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T|UZ - 3 / SECTION - A
TS U9 / Objective Type Questions

gvT wEar 1@ 100 dF & 0T & @y i fweq v v & fad @ v gEt

3/ et 50 v & IT HUR ZRT T MU @ fawey & OMR vz ov FafEv
& 50 x 1 = 50

Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet. 50 x1=250
1. Ty fagoft L 1 fea 1 gean w2

A) FEve (B) Pl

(C) ¥R (D) T B AR

Stock exchange protects the interest of

(A) Investor (B} ~ Company

(C) Government (D) None of these
0. U G &l e e e 3

(A) I G

(B) S <@

©) I, gy & Ay die Q@

D) T @ ;f

Controlling function of an oréanisation is
(A) Forward looking
(B) Backward looking

\_(2)/ Forward as well as backward looking
(D)  All of these

3. e areh Inim sard | At e 2

A) FITH W (B) W W
(C) T W (D) ¥ @ %13 T
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(A)  Afew B) Al
(C) Both of these (p)  Nome of these
S e 3 e ST €
) e ) R
(c) faa (0) 3:;:3 a i
For effective communication ............. IS necessary.
(A)  Clarity ' (B) Courtesy
() Continuity \(.Dj/ All of these
griror T =1fET
(A) T (B) A
(c) 3@ (D) ¥ & ®IE T
Communication should be
(A)  Simple (B)  Difficult
(C) Proper (D) None of these
ey 3 wH-a1 faehy Seare 8 ?
(A)  TerEfd (B)  Tgfaan WieaTEd
(C) 9E gI&m . (D) HH=R wriert
Which of the following is a financial incentive ?
NAY~  Promotion (B) Stock incentive
(C)  Job security (D) Employee participation
fagzror f3ra 2
(a) wER _ (B) @
(C) IFAIF D) 3 A w1 T

|_21?|
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Control activity is

Ay~ Costly (B) Cheap
(C) Unéconomic (D) Nonec of these
8. o o1 H&H Iew 2
(a) T ) foa=em
(C) HUR (D) T ¥ $r T8
Main objective of control is
()  Variation ~ (B) Deviation
(CYr~ Rectification (D) None of these |
o, Priferad & & H—ar oh s B Fuffa FE T 9§ 2
(A) g yare feufa (B) TR e FIIE@

(C)  3RU1 WA & I (D) = o gl

Which of the following is a determinant of capital structure ?
(A) Cash flow statement

(B) Interest coverage ratio

(C) Debt payment coverage ratio

(D) All of these
10. el @y i wfffea TE @

(a) TEa HI - (B) T

(C) GEITRR 3 (D) S
.............. is/are not included in long-term financ:e.
(A) Equity shares "B} Dividend

(C) Preference share (D) Long-term loan

11, e vey & 2o 3 A R
(A) - TIfq AT
(B) oM TEHEA U1 THI AT |
(C) TR eI, U HETIA qUT FHA AEI

(D) W A HE T

Page S / 32
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'B |

ientific management wey,
The experiments done by Taylor under scientif.
C
(A) Motion study
(B)  Fatigue study and time study
i d

\(Cl—Motion study, fatigue study and time study

(D) None of these

12, 91k Yo § iyt o)

(A) 9 g @ (B) wfy A R |
(C) = wwrg 98 (D) ¥ & %I TE
By SCIt‘ntlﬁC management workers are

A" Benefitted (B)  Suffered loss
(C)  Not effected (D) None of these

13. 0 ¥ &

() Imfs (B) @ atfre
(C) <@ (D) Swmew S
Henry Fayol was g / an
(A) Scientist (B)

Mining Engineer
(C) Accountant

(D) Production Engineer

4. gy & foygre 3

(A)  Tifersfier X (B) usfiw

(C) wrhitfis D) T8 @ o

Principles of Management gre

(A)  Dynamic (B) F]exiglé

(C)  Universa] @j/ All of thege
15, 39 o & ferva ? |

(A) 259 ® 309

© S0% D)  75%
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Analysis in scientific management is

(A)  25% (B) 30%

(C) 50% k(ﬂ( 75%
16, wa o I Y Aify @ R

(A) HEA (B) ITHEHA
(€) T A (D) T & BN T
Liberalisation policy in India has been
(A)  Successful (B) Unsuccessful
[.C) Totally failure ‘ (D) None of these

17.  fam @ - =EaRes amaEm & fagwar 72 2 2

(a)  rfeEqa B) wtard
(C) ETaE (D)  wieera

Which of the following is not the characteristic of business

environment ?

(A) Uncertainty \B}—"Employees
(C) Relativity (D) Complexity
18, U I Ao A 2
(A) @it | © (B) UWg @ drelt
(C) WER " (D) WaN
A good plan is
(A) Expensive (B) Time consuming
‘4e]/ Flexible (D) Rigid
19. TR TH ..ccvvvennnn Faftr & fore dar frar s 2
(A) ol (B) 379
) Ffea (D) TEE o
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20.

21,

22,

23.

A budget is prepared fora ..., . period.

(A) Long (B) Short

(C) Definite ‘H:J( All of these
‘wmﬁﬂ%ﬁm’m%%@mﬁﬁﬁmm%?
(A) P B)

(C) e (D) Frdrem

Thinking before doing anything’

management is this performed ?

(A) Controlling (B)
(C) Organising
NI Frar 3
(@A) g (g
(C) | (D)
The manager is
(A) Boss (B)
JC)"Leader (D)
ST wEer F arend
() (B)
(C) =afFTa frard )

Directing

\(-D'J/Planning

et
T @ w5 T

Owner

N_one of these

iy
& wft

Barriers in effective communication are

(A) Language (B)
(C) Individual differences (D)
Feadsh-wfcm saa i ?
(a) fwon : (B)

(C) wmrdwr | (D)

Distance.
All of these

oLy
qaE

ok

=)

21774

— under which function of
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which onc¢ of the following is not an clement of direction ?

(A) Motivation (B) Communication
wey” Delegation (D)  Supervision

Ha TN % TR B

() fafad (B) HIRgH

(C)  HATETRS (D) 3 & i

Types of communication are

() Written (B) Verbal

(C) Formal By~ All of these
hs,  fREC YEM H Tge] 2

(A) Hgr=ER (B) ARG

(C) HEES (D) fas

Controlling is the ............. aspect of management.

(A) Theoretical (B) Practical

(C) Mental (D) Physical

06, o @1 gER TR A |
(A)  HUHA (B) GHaT AW gt
(C) a3 (D) Wiquria

The cheapest source of finance is

(A)  Debenture (B) Equity share capital

(C)  Preference share \(D)}" Retained earning

27. ﬁgﬁ@ﬂﬁ%ﬁmﬂ%wmwwﬁm%
(a) Uf=s® (=) ifvamd
(C) IETEH | (D) T @ W
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28.

29.

30.

31,

-

ividend 1s
For a joint stock company, payment of divid

(A) Voluntary (B) Compulsory
(C) Necessary (D) None of these
(A)  wRom @ (B) FHEH
(C) e q (D) 3 & HI$ I
Control is related to
(A) Results (B) Functions
(C) Efforts (D)  None of these
Pt 3 @ Bh-et P o 77 2 o
A TE-1a=ae frvdm B) TR yarE forman
(C) e

(D)  Yeafg e

Which of the following is not & controlling technique ?

(A) Break-even analysis '_‘FE’J/ Cash flow statement

(C) Budget (D) Managerial audit

ERE L fred mmfm 2 -

(A)  afrorat (B) =gfpat

(C) awgait | (D) Yeysi Q
Controlling is related to

(A) Results (B)  Individuals
(C) Goods_ (D) Managers
T e @ o 2

(A) =g 3 (B) Ty

(C)  uweht 3 D) T | Y 7§

24/A/XI11-5011 -(32/40)
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The lcader takes work from his subordinates
V@ By tact (B) By rod
(C) By threatening (D)  None of these
32. T i wgfert 3
(A) Tl ggfy (B)  ITCIhIEA UTSTHA
(C) 1 W frmry (D) T q @ft

Methods of development are

(A)  Job rotation method  (B) Short-term syllabus

(C)  Development on the job ['B‘)/AII of these
33. e F wer feem wmar @

(A) ﬁzﬁiﬁmm_ (B) waffior §= W
(C) HMH IH W (D) HIEEINH TH W

Training gives emphasis on

(A)  Theoretical knowledge (B) All-round knowledge

(C)  General knowledge (D) Praétical knowledge
34. TS % e H weff gt 2

(A) TH AR (B) WEK

(€ Fft-wft | (D) F=w

Recruitment in the life of organisation is

(A) Once (B) Twice

(C) Occasionally (D) Continuous
35. fefandeas-wwdis @ am a2

(A) TG (B) werafa

(C) VIR HEieE (D) &1 famr
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. 2
. ment :
¢ of recruil
al sourcce O
Which of the following is an external so

- . (B)  Promotion
(A) I'ransfer _ Service extension
(C)  Employment exchange (D)
36. w3
A) e m)
©) () 3tk (B) 2t S
Management is
(A)  Art (B)  Science
sy Both (A} and (B) (D) Profession
37. wmﬁﬁ?ﬁﬁmm% ?
A T g (B)  swreqefar @
O T i ¥ H 1 A
How does 4 Manager achijeve his objectives ?
(A) Through efﬁciency
(B) Through effectivcness
(o Through efficiency and effectivenesgg
(D) None of these
38, U Ty fy ST R
Q) wE F oy (B) faumi & iy
(C)

maﬂtﬁm&aﬁ%aﬁa (D)

Co-ordination is establisheq

¥ § o

(A) Between groups
(B) Between departments
(C) Be

Between management and workers
All of these

24/A/XII-501] -(32/40)
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PRI Yy

39. WEYU F R ek 3 o

(A) 4

(C) 2

B) 3
(D) 1

How many levels of management are there ?

Ay 4
(© 2
40. Awfae wery & fom 3
(A)  firesy
(C) T=dma

By 3
(D) 1
(B) W
(D) ThraTel

The father of scientific management is

(A)  Gilbreth
(C) Robertson

\,LB—)/ Taylor

(D) Kimbal

(217 ]

41. T=fafes @ 3 S59-w 2or g fear mn wew & g AE R 2
A faam,afs e faw  (B)  waiew wrdAhn
(C) @&, 7 T =frame (D) ®=A, 7 foF Tove

Which of the following is not a principle of management given by

Taylor ?

Science, not rule of thumb

\{B’j/ Functional foremanship

(C) Coopecration, not individualism

(D) Harmony, not discord

42, YU Yau H MR H Aol 4 At @

(A) =pH
(C) fteam

(B) It
(D) ¥ 9§ w18 T

24 /A /XI1I-5Q11-(32/40)
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43.

44,

45.

46.

Wages given to workers in traditional management are

W9 Low . (B) High

(C) Maximum (D) Nonc of these
AT waru 8 Ieare gt 2

(A)  JHd (B) 7w

(C) wmHr (D) ¥ A Hig Tl
Production in scientific management is

(A)  Maximum (B) Minimum

(C) Normal (D) None of these
JYTE TS F Teqasat o

(A)  HE (B) W

€ & D) ¥ F Frd 7
The propounder of administrative management was
(A) Fayol (B) Taylor

(C) Terry (D) None of them
o fopm o 4 wftre @ SSfifer s 2

(A) 1878 (B) 1884

(C) 1901 (D) 1903

[21?|

In which year did Taylor become an engineer from a worker ?

NaL~ 1878 (B) 1884

(C) 1901 (D) 1903
STIET F TE aTaTE B T H

(A) e Hifa (B) 3l woreh
(©) i ferm D) T § wf

24 /A /XII-5011-(32/40)
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bt 2l e

Economic environment of business is influenced by

[217 |

(A} Economic policy (B) Economic sysicm

(C) Economic development (D)  All of thesc
47.  TIZ w1 e B

() fomea = Pt @

(B)  wisy & wdwemal &1 =

(€) - wEmEl w1 T

(D)  3mnfRa wfong ® iwt § AP
Budget refers to

(A)  Planned target of performance
(B) Use of handling future activities

(C) Systematic allocation of resources

b&B‘J/ Statement of expected results expressed in numerical terms

48. -ﬁa‘lﬁmmﬁua:uﬁa%maﬁ?m%

(A) IO (B) 3
(© (&) 3 (B) I (D) ¥ | B
Planning is the e of all managerial activities.
(A) Beginning (B) End
(C) Both (A) and (B} (D) None of these
49. b g R
() T F e (B) wisa & forg
() wdum % ferm (D) 8 & o
Planning is for _
(A) Past (B} Future
(C) Present (D)  All of these

24 /A/XII-5011-32/40)
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Sl1.

S52.

53.

[217
AT H1 WTfoT 1 ST R et A YT | |
(A)  ITERIE w1 (B) <aTEcal
(C) ™ = (D) %A graf AR FH1
Delegation of authority means delegation of ...l to

sub-ordinates.

Work and related authority

(A) Responsibility (B) Accountability
(C) Work (D)

(A) <= (B) =TEEIEhal

(C) e D) T A wh
Criteria of effective planning are

(A)  Flexibility (B)  Practicability
(C) Futurity +(D) All of these
Ieerfiea g &

(A) TR 5 ~(B) e

(C) (A) 3 (B) (D) & @ =g T
Responsibility is of

(A) Subordinate (B) Officer

(C) Both (A) and (B) (D) None of these
HitepR 1 FEer T R S weha B

a) e wd W (B) 3NE¥IH HE
(C) TTHTOT R (D) ¥ H I -

Authority cannot be delegated of
(A) Routine work ' (B)
(C) Ordinary work (D)

Necessary work

Easy work

24 /A /X1I-5011-(32/40)
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54. heie § A BT B
@A) Frofa o # e =t guida @
B) Tl a3 & aftert & fagwa s
(C) THT T Y &g ST
(D) T F] YT A H Giel
Centralisation refers to
(A) Retention of decision making authority
(B) Dispersal of decision making authority
(C) Creating divisions as profit centres
(D) Opening new centres or brnaches

55. WS "aEyd yeu § aftife g

(A) Wl (B) =
(C)  Si¥reqo (D) T E
Human Resource Management includes
(A)  Recruiting (B) Selection
(C) Training By~ All of these
56. gl 8
(A) S T | (B) FHIR yaH F HH
(C) WY H wE (D) T &l

Staffing is
(A)  Part of organisation
(B) Function of personnel management

(C) Function of management

(D)  All of these

57. oo # ughy TET @
a) e weel wfam (B) H W FREm
(©) wfegar sf¥rer (D) ¥ FE T

24 /A /XI11-5011-(32/40) Page 17 [ 32




Method of training is not
(A)

‘[ 21?'1

_the-job training
Job rotation training (B) On

_ e of these
(C) Apprenticeship training (D) Non

58. v @1 gy 2

(A) T @) w@d

(C)  3Igson g (D) Tefi &

The staffing is related with )

* (A)  Persons (B) Goods

(C)  Tools (D) Machines
S9. Tt # & w-mr e =1 weer 7€ 2 ?

(A)  IeaTea # gy (B) waHH! H HE IHM

(C)  geemadi § g (D) =W gEEAl 4 Fi

Which of the following is not important in training ?

(A)  Increase in productipn (B) Proper utilisation of T€SOUrgy,

(C)  Increase in accidents (D) Decrease in labour i)roblems
60. trzi%rm 2

(A)  FEEs (B) IEES

(C) umg $ w=td (D) 3™ & HIE A

Supervision is

4_9:}/ Necessary (B)

Unnecessary

(C) = Wastage of time (D)  None of these

61. WMIETEl iU g % R swerfie ¥ @ s 3 s
(A)  afeR (B) wWa-vfH
(C) ST (D) Aty

24 /A /XII-501 1-(32/40) Page 1§




62.

63.

64.

65.

For delegation of authority to bc clfect

re SUETTOR , .
sponsibility is accompanied with nccessary

(A)  Authority (B) Man-power
(C) Incentive (D) Promotion
FaTiE S wWeer W Pl w2

(A) o=l wed (B) T WIS
(C)  IFU=F e (D) famia =TS

-
............

(A) - Formal organisation  (B)

(C) Informal organisation (D)

depends on the willingness of employees.

Functional organisation

[217 |

ive, it 1is csscntial that

Divisional organisation

Ta wiska & FeH §

A) 2 (B) 4

(C) 6 (D) 8

The organisational steps are

Ay 2 By 4

c 6 (D} 8

ERE o R BN

(A) ATEREIS (B) 3AERTIS

) FfEd (D) & i FEw
Employees’ training is

(A) Necessary (B) Unnecessary
(C) Compulsory (D) Wastage of money
Rt <61 farfr /Rt 2/2

(A) e gl (B) WM W A
(©)  wiegar Sege D) T @ at

24 /A /XII-5011-(32/40)
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Method(s) of training is/are

(A) Jobrotation training (g On-the-job training
(C)  Apprenticeship training (DL All of these

66. TR W =7 fra mar um 2

() v (B) 3w
© fafrinm D) & = 7
Money spent on staffing is
(A)  Wastage of money (B) Necessary !
Nod Investment | (D) None of these
67. W% fipar @
(A)  Hhlw s 55y (B)  Iaure fanmy =5y
(C) oM Ry w5 (D) fofra vy =
Staffing is an activity of
\(A) " Personnel Department (B)

Production Department

(C) Marketing Department (D) Financial Department
68. ﬂﬁm%wmmm@%ﬁmﬁ ........... H’%mamqw_
SN HET i
(A) It B)  siquiies
(C) s

D)  +@ ¥ S g

If you want to keep a proof of your ¢

OMmmunication, you should yge
............... Communication,

(A)  Informal (B)  Formal

(C)  Verbal (D)  None of these
69. ﬁmﬁﬂﬁq—mﬂrﬁmmwmqﬁf% ?

(A)  fewifen (B) w=wyyr

©) e D) W st
_

24/AfXII—50 11-(32/40
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(217 ]

Which of the following is not an element of communication

process ?
(A) Decoding -o(—B/ Communication

(D) Receiver

(C) Channel

sifron araEl & Frufor w1 3R g1 =R

(A)  ETES (B) =
(C) P (D) W8 @R

Motivation media should be determined on the basis of

(B) Personal

(A) Group
(C) Job (D)  All of these
rsfier doft i SrevE Bl § ? |

IR GECAZSAA

(B) ¥aA %d F & T

(€ e ot % YT %

p) T A FA % e

Why is working capital necessary ?
(A) To buy land

(B) To buy building

W 'o make payment for routine eXpenses

(D) To buy machine

frita Frdie Y Wit 8

(C)
The process of financial planning is

(A) Determination of financial objectives

Determination of financial policies

(B)
(C) Determination of financial procedures
(D) All of these |
Page 21 / 32
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E 219
73.  figery s e wmfat weg e ' |

(A)  HH ST &

(B)  Afus &mrw 2

(C) &I W fyehre w1 s ST 81 &l @

(D)  FH ¥ I3 T

Paternalistic high growth companics like to

(A) Pay lower dividends

(B)  Pay higher dividends

(C) Dividends are not affected by growth consideration
(D)  None of these

74. fafig Tg-Y % T 74 %
(a) Tty foriem (B) el @l WTE HE

(C) Y€ 9™ T e (o) wEaEdH
Main function(s) of financial management is/are
(A) Financial planning (B) Procurement of funds
(C)  Allocation of net profits (D)  All of these

75.  Tadt yeeum < g femum @ e R T A
(A) 1910 - 1920 % M (B) 1920 - 1930 % QA
(C) 1930 - 1940 % §H (D) 1940 - 1950 & ERH

Traditional approach of financial management was discardeq

during
(A) 1910 - 1920 (B) 1920 - 1930
JC)L— 1930 - 1940 (D) 1940 - 1950
76. daww Rt smiFa @ smaha ? 2
(A) 30 (B) S0
(C) 75 (D) 100

24 /A /XI1-501 1-(32/40) Page 22 / 32




77.

78.

79.

80.

(217

. e D
Sensex is dependent on how many companics :

—A— 30 3) 50
(€ 75 (D) 100
ot srareen faofr vy et 2 2
(A)  gSft gfn B) faeia @re
(C)  Ysfrertur D) ferdra farsm
Financing decision is related to
(A)  Capital structure (B) Financial structure
(C) Capitalisation (D) Financial planning
a4 2004 # wrea § T frafwl it gea ot
(A) 20 (B) 21
(C) 23 (D) 24
The number of stock exchanges in 2004 was
(A) 20 (B) 21
NGO 23 (D) 24
dterar w1 Pt s 8
(A) ETfed SR (B) IrEfed AR
(c) wrufys S (D)  TiOT SR
.............. creates liquidity.
(A) Organised market (B) Unorganised market
(C) Primary market (D) Secondary market
et frffia e & sq9eR Far @
(A) T §NR
(B) I AR
(C) T SR auT STy R gl
(D) ¥ ¥ IS TEl
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81.

82.

83.

84.

New issued shares

(A) Secondary market
(B)  Primary market | arkets
(C) Both Secondary and Primary
(D) None of these
Rrefta srame <61 smyfies e & o
(A) IS HY IH HEAT (B) gﬁﬁﬁﬁm
(©) (A) 3k (B) gHl (D) | :
Modern approach of financial maﬂagf’n'fe.nt 1_5'
(A) Procurement of funds (B Utilisation of funqg
(C)  Both (A) and (B) (D) None of these
33 ficfta Frdvam o1 fadrwand &
(A)  wt&an (B) AXerdl
(C) st (D) T E &
Characteristics of sound financial planning are |
(A)  Simplicity (B) Liquidity
fC] Economicality (D)  All of these
forea & wd e whey oo 4 v g€ oA
(&) g d (B) e H
(C) e d (D) S9HH

The foremost stock exchange in the world was established iy

(A) Delhi (B) London
W America (D) Japan

aeft = T wrafer e

(A) TRgd ®) = .

€ == O) = @ @i
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AT TN, R IR

e T e

W e e TV G e T

o
_U'l .

86. .

87.

88.

217
Regional office of SEBI is situated in
(A)  Delhj (B) Kolkata
(C) Chenna;j by~ All of these
TG AT B e Ry BT 2 |
(A) S B) @l -
C) fwnbrar ~ (D) T A B T

Equity shareholders get the rights in the company for

\{-A‘)/Vote (B) Purchase

. (C] Sell - (D) None of these
STMVHT wearor arfufres e o 3T 2
(A) 2018 (B) 2019
(C) 2020 (D) T ¥ HIS TE
When did Consumer Protection Act come into effect ?
(A) 2018 ' (B) 2019
(C) 2020 \(D}— None of these
TavieE ¥ qfed § | |

(A) T H Feears T W (B) ¥ Td yH fommoA @ &
(©) arfrert ¥ iy wsman (D) T A wf
Responsibilities. of consumer are

(A) Do not make hurry in buying

(B) Beware of false and misleading advertisement

(C) Awareness towards rights

(D) All of these . | -
Fafirar forerra SRIHA e ol | .

(A) ST (B) UM
() wgEER (D) W¥EIK
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89.

90.

91.

92.

izl?l

Entrepreneurial development programme provides

(A) Unemployment _ (B) Employment
(C)  Dishonesty (D) Corruption
IR T fowr v w2

(A)  15HH (B) 15 30

(€) 15T (D) 15 F=dt

When is Consumer Right Day celebrated ?

4.0,)/1 Sth March (B)  15th April

(C)  15th July (D)  15th January
STHIET T Sl ¥t fyarg fraron T §

(A)  TYE wHve (B) U<g HHIEA

(C) oo wry (D) ¥ @ wf
Redressal Agencies under the Consumer Protection Act are
(A)  National commission (B) State commission
(C)  District forum ID}"All of these

& S T S gan

@) ST & B wid

(C) R | (D) ol §

Henry Fayol was born in

{A) Japan ‘{B)/F‘rax;ce

(C) Germany (D) America
AR s 3 wft % ot b avd F A 2

A T | (B) Wt

(C) I3 I9E & (D) 3w .
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B | 1217 )

In scientific management working hours of workers arc

(A) Increased (B) Decreased
(C)  No effect (D)  Averagc
93. s, m_gﬂ%mwa;W%
(A) 8 (B) ©
(C) 4 (D) 2
Acco,rding to G. R. Terry, types of Planning are
(A) 8 B) 6
C) 4 (D) 2
94. Téam T 1 vae T 2
(A)  =mEETEs B) <
(C)  I=m-=ahmma (D) THRIcHS
Direction is not the ............ aspect of management.
(A) Prac_tical (B) Theoretical
(C) Inter-personal (D) Positive
05. TWdd TeVETET § goTd 1 YAIE gl 8
(A) FHI h 3R | B) =&
(C) Twad T W (D) 3w @ e
In horizontal communication flow of suggestion is
" (A) Upward (B) Downward
A_[C)—AF parallel | (D)  All of these
96. fide 2
(A) gdeTd B) frsarea s
() T T (D) T aft .

Direction is

(A)  Pervasive, (B) Performance-oriented

(C) - Continuous activity 4By~ All of these
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98.

99,

100.

(2,
. fpar 7T 2 l
A sdeiat @ ofefd
(A)  FureTH (B) . & o T
© simfa o)
Motivated employees are rcwardc}d bositive
: (B
(A)  Negative b
(C)  Intrinsic (D) ~ Nonc of these
P sy % B
(A) e ®) It
©) o (D) fa

function of the management,

(A)  First Mast

(C) ' Thirg : (D) Second
= ey w2

(A)  fEmt | (B) A

C fesw (D) 78 ¥ wId &
Control is g Managerial function

(A) Compulsory (B) Necessary

(C)  Optional (D) None of these
P s @ |

(A) 99 355w % Ry |
(B) T SRR T I 3 R
(C) a%mnarém%%q
(D) T @ ,ft

Controlling is necessary
(A)  for small enterprise

(B) for medium sized €nterprise

(C) or large sized €nterprise
{QJ/EJI of these
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@US - & / SECTION - B

217

I 09
g / Short Answer Type Questions

qo W 1¥ 30 7% @Y Iwta &1 5 @ fewet 15 vt & g &1 e &
fro 2 s faffa &1

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions

15 x2 =30

Each question carries 2 marks. 15x2 =30
|, oafem @ AE R 2 )
What is meant by labelling ?
o, Tasea dav & wn A 2 2 5
. What is meant by sales promotion ?
3. Iuvihl 9] i FHFEU 2
Explain consumer product.
4~ Thaem s b2 2
What is the meaning of capital market ?
5. ﬁ?ﬂam%ﬁ»——ﬂaﬁmwaﬁqﬁml 2
Describe any four functions of financial market.
6. At ¥ guaTews w1 Fasd 2
Mention the protective functions of SEBL
7 et & ey & frgra fafew 2
Write Fayol's principles of management.
8. el & v ERAEU 2
Explain the meaning of globalization.
o i fife w2 2
| What do you mean by economic policy ?
10. v e sfRm # S TR e saEe 2
State any four features of Consumer IPro_tection Act.
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13.
14,

15.

17.
18.

19.

b

23.

% e g R s 3 2

What is ECO Mark Scheme and Redressal forum ?
It w iR sary ) wweEC

"Entrepreneyr takes common risks." Explain.

A e ferfa i & s BTl

Distinguish between oral and written communication,
SELECR L TR — 2

State two ¢Xamples of non-monetary incentives..

T JeAT I fyggzoy g T3y

State the importance of controlling in an organisation.

aﬁﬁmﬁ%ﬂﬁ%ﬁﬂwwﬁ IR TAT=0|

Distinguish between Centralisation and Decentralisation,

REUE I CC R R — 29

What is the differénce between Recruitment and Selection 2
TR 3 et et w1 w3 B

State any four benefits of training.

ﬁf‘hﬁm@rnﬁmaﬁmﬁﬁm

Explain the process of motivation.
e & frdt @ st = EGINY

Enumerate any two featﬁres of directing.

T % w1 warsy)

State the functions of a supervisor.

WY U e Ry Ha o whgeg
‘Management is an activity.' Explain in brief.
HH=Y Sl faswand gy |

Explain the characteristics of co-ordination. -
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4.
2 (217 |

2 O i gy
How ¢ ‘ Ex ) o 2
0€s scien

25. R ¢
' 2

ific
management bring about complctc mental

State g
' n '
Y three characteristics of fixed capital.

26. gfaig
TRT ¥ i wwzmsy 2
\21?/ E:xr)lain retained profit.

D i e e e Q

What is capital gearing ?
287 TR wnRe 2

| What is planning ?
| 2
29. WNTE P HT YR FR ? '

What is the criterion of effective Planﬁing 7 2

307 Wﬁ@mﬁaﬁ#—%ﬁﬁ@mﬂﬁ@ﬂaﬁ%n ?
C i D
What should be the characteristics of an ideal organisation
EQTE} 3999 W97 / Long Answer Ty

| mﬁwalﬂssﬁémﬁﬂm%tgﬂﬁﬁﬁ:ﬁ

pe Questions

4;;3#*&:33?%1;1?&'06%

faw 5 s fAaifte €1 4x5=20
Question Nos. 31 to 38 are Long Answer Type. Answer any 4 queslions
4x5=20

Each question carries 5 marks. .
31. wﬁwﬁtw%qﬁmaﬁqﬁql 5

Discuss the importance of consumer protection.
5

32. fyqu g B R’ Y sfeT FHERC

Explain the role of 'Advertising' in marketing management.

33. @Fﬂﬁmvﬁm%? gﬁ%aﬂﬁwauhaﬁ’rﬁm

What is stock exchange ? Discuss its functions.

24 /A [ X11-5011-(32/40) Page 31 / 32




34,

35.

36.

37.

38.

e A 3
IR goft 3 sprifier gaft 7 N d working capital
tal an
Differentiate between fixed ij] S
AN Prizor o a7 I € >
0 :
What is meant by budgetary contr S
Yy & fafiyg wrf gdrw) :
. ment. efaa
State various functions of managet aTlﬁ e ' .9

iy ﬁ[q qI
"Administration is a part of management

statement. o <) = qrafl &1 FuHH $Ffal 5

" ¥

—_——————————
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